XE7 0_ 7-0 E X PAGE: 1/1

205.00

@ o

@

TORQUE TO A%\ (2) \ OEMBOLT TORQUE
MIN LENGTH - 205MM 100Nm(74ft Ibs N Phi © 49Nm (361t Ibs)
237.00 27MM HEX
56.00 . 56.00
27TMM HEX
27TMM HEX
OEM LENGTH - 237MM e DESCRIPTION Qry.
1 DUST BOOT 2
v CRITICAL! 2 43.75MM WIDTH SPACER 2
275.00 ' INSTALL AND SEAT TAPER FIRST S 3/4 N, ROD END, RH 1
7500 | . 75.00 "' 4 3/4-16 NUT, RH 1
. ‘ ‘ ©\ REVOVE LABEL 5 27MM WAVE WASHER 2
@ BEFORE INSTALLATION 6 ARM CENTRE 1
——==©) = 7 |
’ C ORQUE TO 8 M14 NYLOC NUT 1
TORQUE Tt
MAX LENGTH - 275MM GONm (44FIbs 9 M14 LOCATING WASHER 1
10 UPRIGHT TOE ARM STUD 1
CRITICAL I 1 ARM SPACER 1
CHECK FOR ROD END BEARING ALIGNMENT 12 W12 WASHER ]
AFTER TIGHTENING THE ADJUSTING MECHANISM 13 M12 NYLOC NUT 1
ROD END TO BE PERPENDICULAR TO THE SPACERS
14 3/4 IN, ROD END, LH 1




	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View9
	Drawing View11


